LHER R TRARESTH B AR

20244F %
LV TESARIIHEERES
HESA TR Z PRI SR E IR, £S5 PRI REAEE. LRSI T2
W WA ER S M SEGE, BARG RS SR EIL S HBUE TR S
L W, RERE. RESIIRTES L, PESARITIHAERASTI9TERITL A RmEE
e B2 (gm19971147 5) SCHHLHET, AR HF4b. S4&4. ATFBL 44 NER
MU E & ITESREIL6 N, ITEMEmEI2A . BE20234F12H, EPRARNI6A, HPTBZEI14A
P NAL A < AT B2 . IBIRAFT0N
A4
A2
BRI 1147.6
— A LI R 4 1147.6
B PER 4 0
A RH AL 0
tARE 4 0
B PSR 4 0
FAELEEE R 4 0
R -
Be (5 HoAth % 4= 0
J6)
F i A4
THRIPATHL TE
FEARTH 420.5 926. 6
T H 41.65 221
i VYN 6.8 8.3
5| K TFE 1 56
HEREHLES) T 6.85 32. 05
Z BB 12 37.8
TR % i B B 15 86. 85
RN S B 230 AR B A ek 2 3 SCBAR, A2 R =+, 5
P A B EBARE T AREERRERS PHITLHEE R EARESMRILITHETA R
” SUERE, 568 “BIAA. FERE” RE, EHREBATIREA A SERKT, B
ARFHINERRSEE, ARG “SREXE” BriLar @i vk
IR FELA ST P A A [ R o dk 2 32 BN IE S, AT =+ K=+ m—
th, Zh Ak, BRTESEEUA TN E e e YT 5 DY JE DU vk 4 e i
EFEH R B, OEEEE CBUIRAY R C“OREIRIET BREE, Ll CRURATEY” N5, BT
EREFALRT KRR, BTSN BEABMEF RO T LR R RIER, £
JIR 55 B0 O R KR AR R R A R BRI SR SRR A &y, % I A A i i i G5
— 2R A8t & =Y 7 =R ARbR JAESRARE A ESRAME
) FR KA RIS ) g A {4 {4
R e
TAR R s fi 4=k fe 4= fe 4=
o S8 E b AN =il =il
R B AR e
SR bR AT HA A HA A
. T g il Bk K22 Rz
TR G i)
TR 2 ) R YA My b3 BEA




TSR R

=0%

=0%

AT AR =100% =100%
WEPITHR =45% =100%
ghFL gl R =0% =0%
WE AT
NHG IR <100% <100%
“CZNGEW|RT BHEK <0% <0%
BRI HAT 2 =100% =100%
BN TS 5E i =100% =100%
T4 TR o) FF i 4 fe 4= fe 4=
e FH A E A
) SRS R T R =100% =100%
A
etz B et SEE SEE
Uy i Wik SL5 B AT N N
RN B B A A A
% P ) A A fe 4 fe 4
o ¢l P AR Y G b eh e
[i] 5 9% 77 R FH 2R =100% =100%
01 B ) R g 4k fe 4 fe 4
TiH &
T & R ) AT I e e
N G ) P Ak fe 4 fe 4
A G NG B BE AT B B
TEERN 5% =100% =100%
H LR TAE S 5 iR =100% =100%
WU b 5% 2 3] 55 KA 58 =100% =100%
G MR TR Rk B B
— ek — ek #HTAE k& (=0 AR ARE SAERRRRE
X T3 S IR T2 R =801 =801
AL WERIE B 4R 25 5 10
AL =0% =80%
TEVT 5 EUA S W 0k F e >150% >300%%
i o | WUB AR “CHEBARILHE S
LA A ?U#%Mﬁuﬁémnﬁ Fe” M B =90% >180%
WA e, TTHEB. 3t
JEIR YL 9348 T8 850 R F e B 3 UE =65 =125
P
SAERSI AN REL =20 \iK =220 N IX
AR RIBERRIE R
EER TR <2% <5%
hs 5IR TR
#r A BB A B 2 N R B . .
EURNA A ZOAK >20 Ak
— I 4e T TR RR =R AR FAEFRARE AAEFRARE

Gt




o PESL RPN SETE R R4F RF
- R
BRI IS AN — —
AR
QEsEES AL BN Sl R Wy W5
W AR AR 55 %5 5 R ES NN Y 85 =95% =95%




